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Instructions :

1 (a) Explain the following terms :

D
@)
@)
(4)
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ENGLISH VERSION

(1) All questions are compulsory.
(2) Marks are indicated on right side.

(3) Statistical tables will be given on request.

Sample space
Equally likely events
Independent events

Mutually exclusive events.
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(b) If P(4)=06,P(B)=0.5 and P(4UB)=0.8 then find 6

(1) P(4nB)
2) P(4A'nB")
® P(¥).
(¢) A box contains 4 black and 3 white balls two balls 6

are taken at random from it. Find the prob. that (1) both

balls are black (2) both balls are white (3) both balls
are of different colours.

OR
1 (a) State the properties and uses of Poisson distribution. 8
(b) The probability distribution of a r.v. x is as follows 6

x: |[=2[-1[o]1[2
P(x):[02K [03 |3k [01

Find - (1) K (2) E(®) 3) V()
(¢ For a binomial distribution n=10,2P(x=4)=P(x=5) 6

then find the mean and variance.

2 (a) State the applications and limitations of Linear 8
programming.
(b) Solve the following L.P.P. by using graphical method : 6

If 5x+7y<70, x+y<12, x,y=0 then
obtained the values of x and y maximize Z=15x+20y.

MAE-7851] 5 [Contd...



(¢) For a normal distribution, sum and difference of first 6

and third quartile are 80 and 20 respectively. Find
parameters of normal distribution.

2 (@) Prove that

@
@)

AH =G?

A>G>H
(b) Find the sum of n terms of

OR

(¢) Find the sum of 724+70+68+........ +40.

3 (@) Write a note on Spearman's rank correlation coefficient. 8

(b) Find correlation coefficient by Karl Pearson's 12
method and find probable error.
x:|3[4]16(7]10
1114|1516
OR
3 (a) Define the regression coefficients. State its properties. 8
() 3x+2y=26 and 6x+y=31 are the regression line 12
equations o, =35 then find out ¥,y,r and C,.
4 (@) Write short note on cost of living index number. 8

(b) Find /;,1p,1;. 1, and I, from the following data : 12

Commodities Base year Current year
Value | Quantity|Value | Quantity
A 6 10 9 10
B 5 15 10 14
C 10 12 8 10
D 9 10 12 12
E 8 8 12 7
OR
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4 (a)

(b)

(b)

©

5 (a)
(b)

Explain association of attributes and types of

association of attributes.

Test the association of attributes for education and
crime for the given data :
City-A City-B

Population 240 234

Educated 40 34

Crimeholder 40 20
Educated and

criminal 5 2

Give the difference between complete enumeration
and sample enumeration.
A population consists of 2, 3, 5, 6 observations.

Write down all possible samples of size two without
replacement. Verify that mean of sample means is equal
to population mean and find variance of sample mean.

Find the Y, and V(Yst) for the following data :

OR

Explain two methods used in business forecasting.
Fit the second degree curve to the following data
and estimate the price of the year 2018 :

Year: | 2013 |1 2014 [ 2015|2016 | 2017
Price: | 10 12 13 10 8

12

12
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